

#### **Change Order Request**

**Project:** 1923025-02 **COR #** 260.00

La Crosse Center Expansion & Renovation

400 La Crosse Street **Date:** 9/21/2021

La Crosse, WI 54601

400 La Crosse Street La Crosse, WI 54601

To: Owner City of La Crosse From: Kraus-Anderson Construction Company

151 East Wilson Street, Suite 100

Madison, WI 53703

PCO # 373 - Ballroom Projector Mounts (RFI 486)

Item#	Description	Vendor	Amount
1	Ballroom Projector Mounts (RFI 486)	Video Services, Inc.	(\$1,910.00)
		Total For Change Order	(\$1,910.00)

Approved By: City of La Crosse Signed: \_\_\_\_\_ Date: \_\_\_\_\_

Submitted By: Kraus-Anderson Construction Company Signed:

Peter Linsmeier

9/26/2021 | 7:17 PM CD

Date:

9/26/2021 | 7:17 PM CD

# **Proposal Request**

	Video Services Inc		
	211 Mohr Drive, Suite		
	Mankato, MN 56001		
	(507)625-1650		
audio video technology specialists			

	Video Services Inc.	TO:	Kraus Anderson Construction Company	Company				
211 Mohr Drive, Suite 100 Mankato, MN 56001 (507)625-1650 audio video technology specialists  Date Project No. 9/10/2021 16-19990  Project Information			Attn.  151 E Wilson Street Suite 100  Address  Madison, WI 53703  City, State Zip  Reason for Change (Check all that Apply)  Proposal Request #  VSI PR9					
La Crosse Cent	er Expansion & Renovation		<ul><li>Changed Condition</li><li>Design Improvement</li></ul>					
La Crosse, WI			✓ Non-Project Change					
			☐ Customer Request	Schedule Chan	ge			
is the largest lift Ch Removing the lifts the screen. NOTES / JUSTIFICA We have selected	e stating the lifts only support 35 lbs, but nief makes.  and mounting on an extension pole work of the common state of the co	uld provide	the correct support and better allign t	the projector with				
MATERIAL AND LA	BOR BREAKDOWN:							
RESPONSIBLE FO	DR COST			COST BREAKE  MATERIALS: \$  LABOR: \$  SUBTOTAL: \$  TAX (MATERIALS): \$  \$  \$  TAX (MATERIALS): \$  \$  TOTAL: \$	(1,432.00) (478.00)			
	REQUESTED BY: Brian Rutz, Do	esign Engi	neer	DATE: 9/10/2021				
	ADDROVED BY:			DATE				

Name, Title

#### **VSI PR9A Appendix**



**Video Services Inc.** 

211 Mohr Drive, Suite 100 Mankato, MN 56001 (507)625-1650

audio|video|technology specialists

**TO:** Kraus Anderson Construction Company

Company

Attn.

151 E Wilson Street Suite 100

Address

Madison, WI 53703

City, State Zip

IATERIAL DETAIL AND L	ABOR BREAKDOWN:					
MANUFACTURER	MODEL	DESCRIPTION	QTY	U	NIT PRICE	EXT. PRICE
	ADD POLE MOUNTS					
CHIEF	CMA345	STRUCTURAL CEILING PLATE	3	\$	143.64	\$ 430.92
CHIEF	CMS0709W	EXTENSION POLE	3	\$	148.43	\$ 445.28
CHIEF	VCMUW	PROJECTOR MOUNT	3	\$	372.78	\$ 1,118.34
LIBERTY	E2-HDSEM-M-05	16' HDMI	3	\$	51.86	\$ 155.59
	REMOVE LIFTS					
CHIEF	SL236FD	SMART-LIFT	-3	\$	2,049.50	\$ (6,148.50
CHIEF	SLBUW	RPA INTERFACE BRACKET - WHITE	-3	\$	76.50	\$ (229.50
CHIEF	RESTOCK FEE	25% RESTOCK FEE	3	\$	531.50	\$ 1,594.50
CHIEF	INSPECTION FEE	INSPECTION FEE PER UNIT	3	\$	250.00	\$ 750.00

MATERIALS TOTAL: \$ (1,432.00)

TAX (MATERIALS): \$

LABOR: \$ (478.00)

TOTAL: \$ (1,910.00)



# **REQUEST FOR INFORMATION**

**DATE:** 8/4/2021 UTC

**RFI#**: 486

Kraus-Anderson 1923025-02 - La Crosse Center Expansion & Renovation

TO:	ISG		FROM:	Travis Dahl Video Services	. Inc.
PHONE: EMAIL: CC:	HJ Martin Ce VSI 8/9/2021 UT	eilings, KA, Kish Electric, C	PHONE: EMAIL:	travis.dahl@vid	
	0,0,2021 01				
SUBJECT:	Ballroom Proj	ector Lifts			DRAWING REFERENCE: SPEC SECTION:
QUESTIC	ON				
to assure to An issue witself is 55 These pro	that the projective noticed right we noticed right lbs without the jector lifts are s to proceed?	ctors would fit correctly, and to nt away was the warning note i e mount and lens installed.	make sur inside stat	e of no issues be ting that these lift	box one of them to size everything up efore taking to site for installation. ts only support 35lbs. The projector nodel that we proposed or how would
DRAWIN	NGS				
RESPO	NSES				
DATE		FROM (FIRM)			FROM (CONTACT)
August 12 3:56 PM U		ISG			Eric Rothwell



# **REQUEST FOR INFORMATION**

**DATE:** 8/4/2021 UTC

**RFI#**: 486

Kraus-Anderson 1923025-02 - La Crosse Center Expansion & Renovation

Provide pricing to change to the Chief universal fixed mount with vibration isolation plate and downtube.

#### **Request for Information**

	١
	2
	٨
-VSI	(!

	video Services inc.	10.	Kraus Anderson Construction Company			
			Company			
	211 Mohr Drive, Suite 100					
	Mankato, MN 56001		Attn.			
<u> </u>	(507)625-1650		Attn.			
			151 E Wilson Street Suite 100			
udio video tecr	nnology <i>specialists</i>		Address			
			Madian M/I 52702			
			Madison, WI 53703			
			City, State Zip			
Date	Project No.		Subject			
8/4/2021	16-19990		Ballroom Projector Lifts			
Project Information	on		Cost Impact			
•						
	er Expansion & Renovation	—	POTENTIAL			
La Crosse, WI						
			Schedule Impact			
			POTENTIAL			
			FOTENTIAL			
DECLIEST / CLADIE	FICATION REQUIRED:					
Ballroom Projecto			Maddid on have a self-through a size around his around heat the			
			n. We did unbox one of them to size everything up to assure that the			
projectors would f	it correctly, and to make sure of no issues b	perore ta	iking to site for installation.			
A :			at these lifts only suggest 20ths. The was batter itself is 55ths without the			
mount and lens in:		tating tr	at these lifts only support 35lbs. The projector itself is 55lbs without the			
mount and lens in:	stalled.					
These projector lif	its are the largest Chief makes Should we r	evisit th	e Draper model that we proposed or how would you like us to proceed?			
mese projector in	to the largest effect makes, should we r	CVISIC CIT	e Bruper moder that we proposed or now would you like us to proceed.			
	SUBMITTED BY: Travis Dahl (Pro	ioct NA	anager) <b>DATE</b> : 8/4/2021			
	Name, Title	ject ivi	DATE: 0/4/2021			
	Name, me					
RESPONSE:						
	RESPONSE BY:		DATE:			

Name, Title

